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(a) Telemerase
(b) RNAi
(c) DNA sequenceing
(d) ELISA
(e) Reverse transcription-polymerase chain reaction (RT-PCR)
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5. Give the chemical formulas for the following compounds.
(1) Lead(1V) oxide (2) hypochlorite (3) ammonium carbonate (4) chromate

6. What is the meaning of the “octet rule”?
Draw a Lewis structure for each of the following molecules
(1) NOs (2)CO (3)H20 (4)Br;



7. The formula of ractopamine is C1gH23NO3 (Mw = 301.38 g/mol). How many oxygen atoms are
contained in 15.069 g of ractopamine? (Avogadro’s number=6.022 x 10%)

8. Arrange the following aqueous solutions from the greatest to the smallest number of ions.
a) 400.0 mL of 0.10 M NaCl

b) 300.0 mL of 0.10 M CaCl,
c) 200.0 mL of 0.20 M FeCl;
d) 200.0 mL of 0.10 M KBr

e) 800.0 mL of 0.10 M sucrose
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